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FExample 2: Describe a Written Pattern Using a Linear
Equation

A bead design for a necklace has an arc shape:
e Row 1 has seven red beads.
e Row 2 has five additional beads and all the beads are green.

- ® Row 3 has five additional beads and all the beads are blue.
B e The pattern repeats. Five beads are added to each successive row.
g a) Draw the pattern for the first four rows.
- b) Make a table of values showing the number of beads in relation to
_— the row number.
E ¢ What equation shows the pattern between the row number and the
1 : number of beads in the row?
| d) How many beads are in Row 4? Explain how to check your answer.
| e) How many beads are in Row 38?
f) If the bead pattern were continued, which row number would have
| 92 beads? How did you determine the answer?
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